A.1 Real Numbers and Their Properties
Quiz 1 Review

Fill in the graphic organizer with the following terms:
Irrational numbers, rational numbers, natural numbers, integers, negative integers,

whole numbers, zero, non-integer fractions, real numbers

Place the following numbers in each set for which it belongs (Many of these numbers will

belong in multiple sets). o hnet yreaks
{0,220,284,4/19,%=8, 0.3, 7, “75/ 7.12345678900}
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A.1 Real Numbers and Their Properties
Quiz 1 Review
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Determine whether the followmg intervals are bounded or unbounded
a) [~4,100] b.) (=1000,9999]  c.) (—o0, —100) d.) [31.5,90.7)

. (a) (Io) @)

(< Y 4 i

Bounded Interval(s)

Unbounded Interval(s)

{; ! . oiyud

+ o2

e.) [87, )

o

’ 1 C
3 n(? i‘,f\/?’:"" ’-3(

Closed Interval(s):

= (¢) (&

(@)

" .
RS A\ Open Interval(s): (’T)
v W £5 X

o0 S ks

Determine whether the above intervals are closed or open:

Rewrite the following sets using inequality notation and interval notation. And graph the
interval on a number line.

Verbal Description | Inequality Notation | Interval Notation Graph
v is no more than 1
13. g/ = 13 -4, )3 j w1 SR
k is less than 5 B .
but no less than < L?, <O [ -3 5y < [m_. pa—_—_—. R
—-3. - -3 0
a is nonnegative. _ [
az0 [0, ) «—+F ?

Write a verbal description of the subset of real numbers represented by the following
inequalities and intervals.
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Find the distance between the following pairs of numbers (two ways).
i | ~ [ P
[-114-11 | = [ -155]= 185

[71-C-114)]
—59,—17

-69-(-17)] = |-59+ /x/ /f .
/ A7-0-59) |+ / A7 +59] = [4z]=42

Next to each statement, write a reason that justifies it.
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Simplify the following expressions:
22_32_( 2_42)
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Transitive
Addition

Multiplication

Commutative

Associative

Distributive

Additive Identity

Multiplicative Identity

Additive Inverse

Multiplicative Inverse

—=[2(3 +4) — 37] + [(—1)BL + (~1)5°]

10[2_(77~ 9|+ (1) + |



A.1 Real Numbers and Their Properties
Quiz 1 Review

Simplify the following expressions.

(6x—5y+4)—2(—2x+3y—2) __ —c(d +5) + 6(2 — cd)
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Evaluate each expression for the given value of the variable.
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